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1. For v; = 1 V, k~W I L = 2 mAIV2
• (a) Find the DC drain current of the transistor. (5 pt.) (b) Find the 

voltage gain ~I V.V. (5 pt.) (c) Find the input resistance ~n. (5 pt.) (d) Find the output resistance Rout. (5 

pt.) 
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2. In the circuit shown below, assume the circuit parameters are: R! =5 k n I ~ =10 k n I v+ =5 v, v- = -5 

V, and the diode turn-on voltage VDo =0. 7 V. (a) Determine V,, iD1 , iD2, for ¥; = 0 V. (10 pt.) (b) 

Determine V,, iD11 iD2 ,for ~=4V.(10pt.) 
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3. The Op-Amp is ideal. Assume ~R1 = R,Rs, find the current IL in the load resistor RL. (20 pt.) 

4. Assuming the diodes are ideal, plot the transfer characteristic V
0 

versus v1 • (20 pt.) 
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5. The amplifier is biased with a current source I and has very high p. (a) Find the DC voltage at the 

collector, Vc. (5 pt.) (b) Find the value of gm. (5 pt.) (c) Find the voltage gain vc I v,. (10 pt.) 
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